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Pass Your Network Appliance NS0-162 Exam with Correct 61 Questions and Answers

NetApp NS0-162 Exam Topics: SectionObjectivesLogical Storage-Describe how to use logical storage features.

-Describe NetApp storage efficiency features.

-Describe NetApp ONTAP Data Fabric solutions.Core ONTAP-Describe ONTAP system management.

-Describe high availability concepts.

-Describe how to manage Storage Virtual Machines (SVM).Networking-Describe how to use network components.

-Demonstrate knowledge of how to troubleshoot network components.Data Protection-Describe how to use ONTAP data protection

solutions.

-Describe how to use SnapMirror.
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-Identify MetroCluster concepts.Performance-Demonstrate knowledge of how to administer ONTAP performance.

-Demonstrate knowledge of how to troubleshoot storage system performance.NAS Solutions-Describe how to use NAS solutions.

-Demonstrate knowledge of how to troubleshoot NAS solutions.

 

NEW QUESTION 32

Exhibit.

 

 

After an ONTAP upgrade, you notice that several cluster LIFs are not on their home ports as shown in the exhibit.

Which LIF option would change this outcome?

*  the subnet-name option

*  the failover-policy option

*  the auto-revert option

*  the data-protocol option

NEW QUESTION 33

Which security method would be used to authenticate targets and Initiators In an ISCSI environment?

*  NIS

*  LDAP

*  /etc/hosts

*  CHAP

NEW QUESTION 34

Click the Exhibit button.
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The exhibit shows a Windows 2019 server with two FC HBAs using ALUA.

How many paths to LUN1 are active/optimized?

*  8

*  2

*  1

*  4

NEW QUESTION 35

You currently have an 8-node cluster and want to perform a rolling upgrade to a newer version of ONTAD to solve security issues

reported in the Active IQ Web site.

In this scenario, which two steps should you validate before you perform the upgrade? (Choose two.)

*  Validate Nodes with Hardware Universe.

*  Run Active 1Q Config Advisor.

*  Validate Nodes with Active IQ Unified Manager.

*  Run Upgrade Advisor Report.

NEW QUESTION 36

You have an Internet of Things (IoT) application that will use SMB shares on a remote ONTAP Select Instance. There are no name

services and only a local network Is available at the remote IoT site.

In this scenario, which two features are supported by ONTAP software for the IoT application? (Choose two.)

*  Active Directory users

*  SMB Server in workgroup mode

*  SMB3 Witness protocol

*  CIFS local users

NEW QUESTION 37

You are using a 4-node cluster, and the node containing epsilon fails.

In this scenario, which node contains epsilon?

*  Epsilon needs to be manually assigned to the surviving node of the HA pair.

*  Epsilon needs to be manually assigned to a healthy node in a different HA pair.

*  Epsilon is automatically reassigned to a healthy node in a different HA pair.

*  Epsilon is automatically reassigned to the surviving node of the HA pair.

NEW QUESTION 38

You want to add SSDs to existing HDD aggregates.

Which NetApp tool helps you to validate how many SSDs would Improve performance?

*  OnCommand Workflow Automation

*  Active IQ Unified Manager

*  ONTAP System Manager

*  Automated Workload Analyzer
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NEW QUESTION 39

You are currently using SnapMlrror Synchronous (SM-S) to protect a critical workload at your organization and you want to convert

the SnapMlrror policy from Sync to StrictSync.

In this scenario, which procedure allows you to achieve this task?

*  Recreate the SnapMirror relationship, specifying the strictsync policy, then re-synchronize it.

*  Modify the existing SnapMirror relationship specifying the strictsync policy, then re-synchronize It.

*  Recreate the SnapMlrror relationship, specifying the strictsync policy, then promote It.

*  Modify the existing SnapMirror relationship specifying the strictsync policy, then promote It.

NEW QUESTION 40

You want to prepare your ONTAP cluster and your ESXI cluster to connect NFS datastores over a 10-GbE network using Jumbo

frames. In this scenario, which three configurations would accomplish this task? (Choose three.)

*  Enable jumbo frames with an MTU of 9000 for your ESXi hosts.

*  Enable jumbo frames with an MTU of 9216 for your switches.

*  Enable Jumbo frames with an MTU of 1500 for your ESXI hosts.

*  Enable Jumbo frames with an MTU of 1500 for your ONTAP cluster.

*  Enable Jumbo frames with an MTU of 9000 for your ONTAP cluster.

NEW QUESTION 41

You ate attempting to establish a SnapMlrror relationship between your ONTAP cluster (AcmeClusOl) and a partner

company&#8217;s ONTAP cluster (WidgetsClusOl). The clusters are unable to establish a peering relationship. You perform a

packet capture on WldgetsClusOl and do not see any packets from AcmeClusOl. You also discover that the IP subnet that Is used for

WidgetsClusOl&#8217;s intercluster LIFs overlaps with a local subnet at your company.

In this scenario, which feature would enable AcmeClusOl and WidgetsClusOl to peer with each other?

*  VLANs

*  broadcast domains

*  IPspaces

*  ONTAP subnets

https://kb.netapp.com/Advice_and_Troubleshooting/Data_Protection_and_Security/SnapMirror/How_to_create_and_configure_Clu

ster_Peering_with_designated_InterCluster_LIFs_using_IPSpaces

NEW QUESTION 42

Click the Exhibit button.

Referring to the exhibit, which volume has a snap reserve value set to zero (0)?

*  netapp_n01

*  netapp_esx

*  netapp_esx_m1

*  netapp_Inx_m1

NEW QUESTION 43

Exhibit.

Reliable NetApp NCDA ONTAP NS0-162 Dumps PDF Jun 07, 2022 Recently Updated Questions [Q32-Q47] |  Page 4/6  |

https://certify.vceprep.com/?p=80
https://certify.vceprep.com/?p=80


This page was exported from - Latest Exam Prep 
Export date: Thu Apr 10 23:21:19 2025 / +0000  GMT

 

 

A user cannot save a file on an ONTAP SMB share.

Referring to the exhibit, which action allows the user to save the file?

*  Allow the file type *, rtf In the CIFS Server fpolicy.

*  Let the user save the file to a writeable location.

*  Synchronize the ONTAP Cluster time to the Active Directory time.

*  Set the user permission for the share to write.

NEW QUESTION 44

A user wants existing data in a FlexVol created in ONTAP 9.1 to be placed into a FlexGroup volume with ONTAP 9.8. In this

scenario, which two statements are true? (Choose two.)

*  Use XCP to copy data from a FlexVol to a FlexGroup.

*  Use SnapMirror to replicate data from FlexVol to FlexGroup.

*  You can convert the FlexVol volume to a FlexGroup volume.

*  A FlexVol to FlexGroup conversion is not supported.

NEW QUESTION 45

Your company has purchased two NetApp AFF A400 HA pairs. During deployment, how many root aggregates are created?

*  6

*  4

*  2

*  8

NEW QUESTION 46

You are creating a NAS volume for vSphere.
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In this scenario, which two elements must be present when you perform this task? (Choose two.)

*  iSCSI license

*  CIFS license

*  NFS license

*  SVM

NEW QUESTION 47

Exhibit.

Miss&#8212;&#8212;&#8212;&#8212;&#8212;&#8211;

The availability of the remote cluster in the peering relationship shows &#8220;Partial.&#8221; Referring to the exhibit, what is the

reason for this status message?

*  The remote cluster does not have its cluster license applied properly.

*  The local cluster is unable to authenticate successfully to the remote cluster.

*  Some nodes In the local cluster are not able to contact some or all nodes in the remote cluster.

*  The Intercluster LIFs on the local cluster are unavailable and not able to communicate to the remote cluster.
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